
B)    Solve for  in each kite and !nd the measure of the indicated angles.

1) 2)

3) 4)

5) 6)

mÐXUW = (–86 + 5� )0 ; mÐX = (82 – � )

mÐXUW = ; mÐX =

� = ; mÐXWU =

mÐS = (7�  – 86)0 ; mÐQ = (�
 + 14)0

mÐWTV = (2� )0 ; mÐUTV = (4�  – 38)0� = mÐUTV =;

� = mÐS =;

A)    Solve for  in each kite and !nd the measure of the indicated angle.

mÐD = (2�  + 18)0 ; mÐB = (–41 + 3� )0� = mÐD =;

mÐKML = (–� + 3)0 ; mÐLNM = (–4 – 6� )0� = mÐM =;

mÐGDF = (8� )0 ; mÐDEG = (18 + 10� )0

mÐEGD = ; mÐFDE =

� = ; mÐFDG =
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B)    Solve for  in each kite and !nd the measure of the indicated angles.

1) 2)

3) 4)

5) 6)

mÐXUW = (–86 + 5� )0 ; mÐX = (82 – � )

mÐXUW = 640 ; mÐX = 520

� = 30 ; mÐXWU = 640

mÐS = (7�  – 86)0 ; mÐQ = (�
 + 14)0

mÐWTV = (2� )0 ; mÐUTV = (4�  – 38)0� = 19 mÐUTV = 380;

� = mÐS = 960;26

A)    Solve for  in each kite and !nd the measure of the indicated angle.

mÐD = (2�  + 18)0 ; mÐB = (–41 + 3� )0� = 59 mÐD = 1360;

mÐKML = (–� + 3)0 ; mÐLNM = (–4 – 6� )0� = mÐM = 320;–13

mÐGDF = (8� )0 ; mÐDEG = (18 + 10� )0

mÐEGD = 580 ; mÐFDE = 320

� = 4 ; mÐFDG = 320
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